ANDRA

Montagehinweis fir Hangeelement

(S720/S721)

1. Legen Sie an der Wanddie Oberkante und seitliche position des Hangeelementes fest und
markieren diese.

2. ZeichnenSie die Locher fir die Wandleiste wie in der Skizze unten dargestellt an und bohren
diese (D =8 mm)

3. Dibel 8 x 40 mm einstecken und Wandleiste mit je zwei Schrauben 5 x 60 mm anschrauben.

4. Hangeelement auf die Wandleisten einhangen und wenn nétig an den Stellschrauben des
Aufhangebeschlags einstellen.

5. Die Locher der Riickwand mit den Abdeckkappen verschliel3en.

BohrmalRe von Korpus-AuRenkante fiir Wandleiste

398.0
32.0 320

46.5 }|mﬁ .o|} 465

B
@ o o @

e}

Bohrmale
von Korpus-
Oberkante flr
Wandleiste

Befestigung der Wandleiste

Wandbohrung Dibel Wandleiste
@8 mm 8 x40 mm 60mm
LA0005404 VE0005221

A}

o O o

A

o

Spax-Schraube
5x 60 mm
LA0005363

P,
P




ANDRA

Assembly information for hanging cabinets
(S720/S721)

Define the position of the unit on the wall. Mark the top and the side edge.
Mark the drilling holes as shown in the below drawing. Drill the holes with a 8 mm drilling bit.

Ponp=

Hang up the cabinet on the bearing plates. If necessary adjust with the adjusting screws on
the hanging fitting.

5. Close the holes in the back with the plastic covers.

drilling measurements from the carcass side edge for bearing plates

398.0
32.0 320

46.5 }|mﬁ .o|} 465

B
@ o o @

e}

drilling measurement from
the carcasse top edge
for bearing plates

Fixing of the bearing plates

Insert the anchor bolts 8 x 40 mm and screw on the bearing plates with 2 screws 5 x 60 mm.

hole anchor bolt bearing plate
38 mm 8 x40 mm 60mm
LA0005404 VE0005221
)
O O "

A

o

Spax-screw
5x 60 mm
LA0005363

P,
P




